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a 26 A) ‘
awy g (EITE |
mER) EAm | 0.58 B0 0.19
526 H) F T 0.18
avy S (TR |
ALERIX)  (FEHI L R 0.58 £0.73 0.20
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WER | | e ARBRIX TERHT 2 | RS \ ;
i e S S FRRAPRE | JRYEE
e | o | PSR Ten Dmann i | OO e | omme fﬁj’f) -
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(12. 0%) o
950 ¢/10 a (21 %)
“F-<0. 005 <0.01
F<0.005 (35 H#%)
(28 A %) 10
£-<0. 004
T<0. 004
(7 B#)
£-<0. 004
T<0. 004
= g
B 10,004 | (14 Afg) | <0004
PBI=68 A | [-<0.004 £<0. 004 T<0. 004 -
F0.004 | <0. 004 .
oK) F<0. 004 (35 H#%)
(21 B %)
£-<0. 004
T<0. 004
(28 H#%)

tEEEEx, ko BEEO~10 cm), T : FJE(10~20 cm) Z7R9,
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x 482 /7050 (FR3EE)

ol S PR (mg/kg)
. PR ESK 3= FRE
IR | sy | pestien | stwocemr || e | TR RIS | PRI TR
TR - D) | Gl B8 ) i " me/ke) | (ppm)
f B A0 H %0
J=:N
S EAT R | A7 — 2 VR Mgk 1+ 0.06 | Fo0.06
KPEG Al | KT 20,00 ppizas B | 0% | BT w0 | pgor | 039
g g 1006, Gagp | T | TO JaE® g | TO0H
300 L/10 a
Bt F0.02 | F<0.01
LA PBI=28 Fo0.32 | Eo0.04 F0.03 | F<o.01 0.08
ZEon (kD) T0.01 | FO0.02 | (14 pse) |3 pg | (71 AR
(X273 prasen o1 | Looa 10
X . .
PBI=28 A £0.46 1 B 00T kg, 01 F<0. 01 -
g | P00 PO JaaE® uspm
Bt F0.04 | F<0.01
PBI=28 H £o.36 | £0.08 T0.08 | F<0.01 —
) P01 F004 g fg%) | (43 AER)
e, b BB (0~10cm), T : FE(10~20cm) %757,
* 4-8-3 /T3> (FR30FE)
ol S 3R (mg/kg)
. LR ESE G TR
MERIRE | oy | gt | stwecemr || e | (TS B RBIRE| JEG
TG - WD | G e ) it e | pm) | (ppm)
- H %0 H %0
bUBES =y
KIRFFSLESEE |7 AN ik MRk HEK - k<0.01 | k<o0.01
KRR S K20, 0%) PRI=15 H | Fo0.41 0141 w001 | Feo.or | 90
- 2000 £, (k) FOOL L aapgg |@apg | (3K
300 L/10 a
MERY : LR o.06 | k<0.01
1]
PBI=15 H | L 0.38 ig éi F<0.01 | F<o.01 (33;%&)
gk () ' (14 A |3 A f o
() TiF% : VK - £<0.01 | E<0.01
PBI=15 H 1 0.22 0.05 T<0.01 | F<0.01 -
) FQO.01 | (14 BEg) | (33 HER)
MERY : R 0,06 o0.02 | k<o.01
PBI=15 B | F0.20 ' F<0.01 | F<o.01 _
oK) FO02 ) ng |3 A%
FERSRST MR | A2 — 2 ViR g o0.16 o.18
ATERR O [ 20, %) ppr=ga p | 088 | 20200 g6 | o, 02 035
Sy s—  [1000 [ (it 1<0. 01 T0.15 (14 H12) | 34 B#2) (34 H%%)
300 L/10 a
i +o0.07 Fo.01
LA PBI=34 [ +0.38 | Eo.15 F0.04 | Feo. 01 0.03
ZE0k (i) T<0. 01 T 0.07 (14 H%) 11 B#%) (41 B $%)
(o 72%) prases To19 o2 10
[p:a . .
PBI=34 H £0.45 ) £0.19 F0.07 | F<o.01 -
Go | T O iR [sang
i o0.07 Fo.01
PBI=34 H L<O' 5| £0.15 F0.04 | F<o.01 -
o) FO.0L | F007 | (i mg) | B

R, o B (0~10cm)

. F: FE00~20cm) Z1~:9,
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K484 /)T (FRL28EE)

OB &M R (mg/ke)
PR et o | ot
ERMHB | (ERRH) Rt . e |\ U0 T i | s | R | LA
ARG - GRERIX) " | ‘ (ppm) (ppm)
BURIS Sy ;
IR L | *x =2 K
TR (1 ZEok 0.28 0.36 0. 46
12 kg/10 a Y2 . — . ) )
. (ppi=o p) | FPPTR| 16O (4R |26 a®) | cenm | O
EhRE Y . | DAY PRS-
Rk A g | Sgon
o 2<§ Of)z ot 1) N 43 - 2.32 1.66 0.14| o
“; " : (14 B#%) |29 B#) | (29 B#%)
ESIY=N% S VEIZaVIPS [t iR
Ee o
;igoo{"/i) “Eoh F0.44 B 0.17 0. 34 0.26
200 L/I‘O . (PBI=1 H) L SN T0.24 (14 %) |(24 BH#%) | (24 H1%) 10
38l

PERH B 3 1T o B8 (0~10cm), F : FE(10~20cm) 2719, ETFTORENRZ2WEEITETERE (0~10cm) %7777,
TR % O VB R R IR EE T OFEIPIE, VBT SXOUIE % O B 3R R~
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S

x 485 /T3 (FRk2] H£E)
ol S T-EER A (mg/kg)
w | WE | K ol I
i St (R 3) HEEEY o 7 AL YERF T I . Perdye s | FEvEfE
1B ARG - (RBRX) " PGS | (FERE) 7| (mg/kg) | (mg/ke)
JLBE
H27 | dbyfaisr| » % —7 /V¥k | Z %272 (PBI=0 A) Sl i Tk Tk
g A e | KA
f‘“( ILEE (20. 0%) ZE£-o7% (PBI=15 H) - - - —®
HEAE 240 {5
3 L/ Kot ) 10
ZE-o7 (PBI=27 H) - —X ¥ ¥
1A
ZE-7 (PBI=61 H) - —X ¥ ¥
2871 S A L% N I _ | Eo.s7
- Z &% (PBI1 H) AIE | Lo 01 0.63 0.03
(20.0%)
2,000 {5, ZFEH7% (PBI=14 H) 0.95 £ o087 0.71 0.01
30|E| L/10 a é/ J:—g‘—‘;} I<g 2; 10
3= .
z 7 = . . .
F-o7 (PBI=28 H) 0. 96 F<0. 01 0.74 0.03
Z¥-o7 (PBI=62 H) 0.88 £ 0.76 0.78 0.02
T<0.01 )
% VI ZaVIPE TN
R - M g (PBI=4 H) 0.24 #g éi 0. 02 0.08
(20.0%) :
2,000 {%, ZFEo7% (PBI=17 H) 0.20 £ 0.02 <0.01 0. 02
o 110 % o 10
z 7 = . ’ . .
F-57 (PBI=31 H) 0.20 ¥ 0.02 <0.01 0. 02
<0.01
z 7 = . ’ . .
F-o7 (PBI=63 H) 0.18 F<0. 01 <0.01 0.01
HE s A — 7 VRIF
S (1. 0% " Z¥-o7 (PBI=L H) 0.38 £ o.37 0.08 0.11
AR P o / . F<0. 01
PO g/10 a
it | Z¥-o7 (PBI=14 H) 0.74 i g 3(1) 0. 06 0. 06
- St o ;18 10
z 7 = . ’ . .
F-o7 (PBI=28 H) 0.70 F<0. 01 0.10 0.05
Z ¥ o7 (PBI=60 H) 0.80 £ 0.40 0.05 0. 07
- ’ T 0.04 ) )
(B | AX— 7 VRN | S 1 0.52
. - 7 = H . .
o 2 Y(’ﬁiﬂ ) F£-o72 (PBI=1 H) REE  0.04 0.31 0. 58
PO 20. 0%
Heffit > 2000 {5 Z¥-o7 (PBI=14 H) 0. 64 £ 0.42 0.26 0. 62
H— 30: L/10 a eSS I 2 22 10
3 .
at 7¢ (PBI=28 . . .
Fo7% ( H) 0.52 ¥ 0.09 0.22 0.58
I 0.25
z 7 = . . .
F-o7 (PBI=60 H) 0.28 T 014 0.16 0.32

TEAT IR LR 13 b 0 BJE (0~10em) . F : T8 (10~20cm) 2779, L TFOLEALWERIFETLEE (0~10em) 27537,
X BAFR IR DG SR 2B OB N B EFNED & 5 0BG SR T,
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x 486 /T2 (FpL2dEE)

A OB & R FHEREPE (mg/kg)
=4 B SES Bh PR B
| s | OGS E R T I e
g| wm | RO EVETAE pi | wme | e | ook BT
FRAER - | 1E o i i (mg/kg) * | (mg/kg)
MR | - -
H25 | dbifElisr | 22— |l |[2~Y ) (EfTELE
WEMTE | kAl L | ) R 30 0.48 0.33 0. 38
A o (1. 0%) H)
SRS | EITREX a<wvt (1/3 &
6 kg /10 a PEX) CHEAMLER 30 | EIhor-3 0.12 0.20 0.09
1/3 &K : H)
2 kg /10 a avwyF (1/6 &
1/5 &X : FRIX)  CEAILPE 30 0. 04 0.08 0.04 10
1.2 kg /10 a H)
g (1B TEEE
X) (GEFIER 30 | CR &S EX 0.48 0.33 0.28
H)
g~y (BT R0
X) CGEALE 30 mhH A 0.48 0.33 0.28
A)
ER S | TR Y | R LYy (TR oL
sgap | BIROKEEAT | L | OEIX) CGEALE 1.56 - 0 10 0.27
e (20%) 41 H) :
PEAT R FvLrvy (1/3 & & 083
2, 000 %, LPRIX)  (CERLER | Y~e—X 0.81 ' 0.25
300 L/10 a 41 H) F 010
ryrrevy (1/5 &
ALPRIX)  (FEFAIALER 0.48 0.48 0.23 15
A1 H) T 0.12
ALy vy (BT
WEX) (CGEFIER | Zna ) R - - 0.35
41 H)
ALYy (BTR
ALPRIX)  (GEAALEE 1 - - 0.23
41 A) TY=F
FMIREE | T AN | vy (BTEAHE 053
woakee | BERKERD | L | X)) GERIAEE 26 0. 48 - 0. 06
(20%) H) T 015
BITEX : N .
2,000 f&. ;;;@%&%fﬁ-iﬁotﬁ 0.12 £0.16 0. 04
1/3 #&IX : ) T 0.04
6, 000 i,
a<>YF (1/5 &Y
1/5 =X : e + 0.04
10, 000 fi. ?ffi) (HEFILEE 26 0. 06 —_— 0.02
300 L/10 a -
a< Y (BT R - 053
X) A0 26 e 0.48 - 0'15 0. 06
H) :
o= (187 B + 0.53
X) CGEAILEL 26 2k 0.48 - 0' 5 0.05 10
H) )
TUEBIFIEAR | T AN Y L] 7 |a= ) (IEL TR - 0.46
KPEHHE | A L P ML 27 1.18 $Ad% 0. 22
“/&.__ (l 0%) H) :
6 kg/10 a FX) (AR N F 0.20
SRANGLER 27 | ko723 0. 54 0. 04
1/3 &KX : ") T 0.05
2 kg /10 a avvF (/5 Ry o006
1/5 BX FIX) (EAILER 27 0.22 : 0. 04
1.2 kg/10 a ) F0.02
a=vF (IBTRELE L 046
X) A0 27 B 1.18 - 0' 03 0.18
H) )
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o= (BT 80

) CHALER 27 | e Lig| b 046 0.27
) T 0.03
H25 | M5 MSIAT | T NY v | 2 |2~y (BT s 0,294
FiE AKIR | 77 L | ) CGEAILER 35 0.878 - 0' 054 0.120
RESTERBEE | (1.0%) H) '
MAKERA | BITREX a=vF (1/3 & - 0186
WF42 AT 6 kg/10 a FRX) CGEAFIAFR 35 | kovo7-3% 0. 489 ’ 0. 064
T 0.056
1/3 &X : H)
2 kg /10 a awYJ (1/5 &L 0,130
1/56 &X : FIX) (CEAIALEL 35 0.324 ’ 0. 068 10
1.2 kg/10 a H) T 0.052
zv\yﬂj,(‘Eﬁi@ﬁ 0,294
X) (A 35 D& 0. 878 0. 170
) T 0.054
g (1B TEEE B b 0,204
X) CGEMILER 35 BER 0.878 0.125
) T 0.054
SRR | 7AYo R R Ly Yy (BT E ET 0.44
IREEFARTRR | Rz L | X)) CEAILEE 0.53 0. 01 0.03
A= (1.0%) 31 H)
s rouLrrvw (1/3 & ETF o012
szjo a LX) (HAPLER | ~v—R 0.18 <0.01 <0.01
1/3 R - 511
2 kg /10’a rouLrryvw (1/5 & EF 0.06
/5 BK - SLBRDC)  CHEAIAL B 0.12 <0. 01 <€0.01 15
1.2 kg/10 a 31 H) v
rorvryy (BITH ETF 0.37
LX) (GEAIE | 35—V 0.52 <0.01 0.03
30 H)
RULryy (EITRE, LT 0.44
ALERIX) (AR i R;W/r 0.56 0. 01 0.02
34 H)
FEEBESTE | 2 —7 L |7 |3~y (BT R T 0.41
MOKPERRE | Rk L| K GEglneE 27 1.45 0.37 0. 04
BB | (10%) 18 H)
vH— T - awy) (1/3 B 7 0.10
6 kg/10 a BIX) CHRALE 27 | Eholk¥ 0.13 0.06 0.02
1/3 B : H)
2 ke /10 a a~YJ (1/5 & ET0.05
1/5 BIX - BRX)  (GEANLER 27 0.10 0.05 0.01
1.2 kg/10 a H)
a< Y (BT EE ETF 0.41
X) AR 27 TRIR IR 1.45 0.37 0. 09
H)
o< (BT T 0.41
X) CGEALEL 27 Wit b 1.45 0. 37 0.14
H)
10
AR | 22— J V| T (2~ (IEATELEE 012
Hffie > # | Rk Fagl L| K) CEFE 32 0.32 ETF 0' " 0.03
- (20%) H) '
2,000 f% ax v (1/3 #&JL 0.07
300 L/10 a P (GEALEE 32 | Ko7 0.11 T O. 06 0.02
H) ’
awvF (1/6 &N 0.04
BRX)  (GEALER 32 0.08 kT 0.01
) 0. 04
a= v (BT &0 0.12
X) A 32 Tl R 0.32 FF 0. 02
) 0. 14
o= (BT &0 0.12
X) ML 32 RSN 0.32 ETF o. " 0. 02

H)

246




4-8-1 /7752 (FEpL24FE)

g s T HEE B (mg/ke)
| maskn | G5 | T e S I
| omp  |FARAE st .2 G| wmg | G | oL R
RER - | fE a Bk s (mg/kg) ** | (mg/kg)
SV B L)
H24 | BRIREE | T ANRY v || BT (RHIX) M O 0 - R 0.04
B OB | BRI | L | s as B) 0621 3 0.20 | smo.s
(20%) W GER) RO D W co.01] %S
2000 it CEAIALEL 160 H) 0.08 #0.02
300 L/10 a -
PIRIA S (R H0.10
HIX) (AP 29 ES AN 0.28 Al
#0.54
H) 0.5
NI HEA 2 (B " 0.02 10
FEX) CGEFPLEE 119 | A > b 0.04 5 0- %
H) ’
TARY | | A7 (BHIX) it O~ 0 0.51 Ho0.02
ba:il L | CGEAIE 50 A) ’ #E 0.14| 4RO.5
(1%) H1 7 GRAEX) (PO 0,01 Ho0.01| 25
6 kg/10 a (A 167 B) ’ #0.03
NI HEA 2 (B H o0.10
W) (EAALEE 36 ES AN 0.48 #0.88
H) 0.5
NI AEA s (8 Ho0.02| H10
FEX) (EAVLEL 126 | =2 A > b 0.09 #0.30
H)
TSR | A2 — 7 V| 72 | 17 (RHX) MR O 0 + 0.92 R <0.01
IKPEHAT | Ko KEAH L | (GEFILEE 45 H) T 0.50 ¥ 0.04 | 4R0.5
v H— (20%) BT GRIEX) TR O 0 £ o0.88 | AR <0.01 %5
2000 % CEAIEE 125 B) T 0.21 3 0.02
300 L/10 a =y (BHKX) PO Al 0,92 R <0.01
AL 134 1) | T T 0.50 E 0.01 1
=rVr (BIEX) BT ol 0.8 B <0.01 #5
(HEFILEE 190 H) - T 0.21 #<0.01
IO REAR | A X —o 0 |7 . R <0.01
AL | kil L i%ﬁzﬁf‘; | OB Jlj g: 12 .00
A= (20%) 3 0.04 0.5
2000 fi% - R <0.01 %5
swios | ommmor ) | BHOPY oo | ®ao
(0.007)
R <0.01
=rvr (RHIX) h o + o013 (0. 005)
A 120 ) | O T oo0.16 | #0.03 -
S
=Ty (BIEX) g £ <o0.01 I}gzg‘gég
(CEFILEE 181 B) T <0.01 PR
FNRSEEE | TANY V| 72 | 17 (FIX) F vk 0. 14 R <0.01
RS RLAERH L | (EANLEE 58 H) - ’ W 0.02| 420.5
(20%) A7 (EBAEX) B <0.01 5
2000 f% (AL 99 H) SR <0.01 # <0.01
300 L/10 a NI HEA A (B & 0.01
HIX) CGEFOE 47 | 2 Ao b 0.14 # 0. 05
H) 0.5
NI HEA 2 (B B o<0.01| %10
FEX) (AL 89 | =2 A v |k <0.01 #0.01
A)
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4-8-8 O/ T35 (FERL23FE)

=B & TR (mg/ke)
= E S vy 7 iya)
| magepg | DEVRE A R | e | | R
e (B 2hRksy2R) P . » PR Y g FEUE(E
| H&E Bt BEE IR R ki (I RRF) 3%
TifRfEER - | fE s - (mg/kg) (mg/kg)
RLPL 7] - =
H23 | & 0 I AB—=7 ) |77 | T (G (FHIX) . Fo0.21 0,02
BB kAl (20%) | L | CEFILEL 56 H) T 0. 26 ’
v = 2, 000 ff BT (3) GRIEX) 2o F0.03 <0.01
300 L/10 a (FEAIALPR 92 H) T 0.06 (0. 008) 0.5
H7 () (FHIX) . +o0.21 <0.01 #E5
(SEFIE 56 H) T0.26 (0. 006)
H7 (HR) (GEIEX) . +0.03 <0.01
(GEFIEL 92 1) T 0.06 (0.001)
=y () (B A k5% Fo0.21 0,02
X) (GEHILEE S5 H) . 0 89 T 0.26 ’
=rvr GRIEK) (B m ’ - 0.03 0,01
FIALE 125 H) i T0.06 ‘ 1
=y (R) (R A k55 +o0.21 <0.01 35
X) (KA 85 H) . T0.26 (0.003)
=Yy (IR (B Bl +0.03 <0.01
X) CEANLEL 125 H) e T 0.06 (0. 003)
a<>F (RHXK) S Fo.21
(RFEL 41 H) HARR T 0.26 0.03 0
a<Y ) GRIEX) S Fo0.03 <0.01
(RFNEL 74 H) HAR T 0.06 (0. 006)
AR —= N |l |7 GE (FHX) . +0.25
) U | s se B) B Fo.28 005
(1%) H7 (3E) (EIEX) . 1 0.06
6 ke/10 a (HEAIILER 92 H) i Fo.14 -0l 0.5
7 (R) (FHX) . 10.25 #p
(HEFNLEL 56 H) S T0.28 0.01
BT (AR) GEIEX) . F0.06 <0.01
(BEFIALHE 92 H) i 0. 14 (0. 005)
=y (3 (B B[ 10.25 0.03
X) (GEHILEE S5 H) —E T0.28 ’
=rvr GEEK) G e L2 ™0 08 o o
FIALEE 125 1) = T 0. 14 ' 1?1
=Yy (1B (R A k55 10.25 <0.01 #p
X) (GEHIL 85 H) =2 T0.28 (0. 006)
=rvr (B) (GEE ) b5 0.06 <0.01
X) (GEAILEE 125 H) —E To.14 (0. 004)
=Y F (RHIX) ” Fo0.25
(EHIFR 41 H) L T0.28 006
a~>Y) GRIEX) - +0.06 <0.01 10
(EHNFR 74 H) LRSS T0.14 (0. 007)
F)INREE TANY Ly | | awy ) (BHK) -
REp | meccRA | L | CEAAE 32 1) R 0.16 0.18 .
(20%) a~>Y) GRIEX) e <0.01 0,02
2,000 % (HEFHIALPE 92 H) (0. 003) ’
300 L/10 a FoR YA (R .
) Gigpamarp) | 0T 0-16 012 N
FUF YA (BIE - 0.78 <0.01 0,01
) (HEAHILEL 98 H) a (0. 003) '
RyLLY Y (R .
) (HAVLE 42 ) B 0.16 0.08
ALYy (GBIE R <0.01 <0.01 15
X) (HEFIE 108 {) | PO (0. 003) (0. 004)
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= 4-8-9 O/ T35 (FERK 23 FE)
=B & TR B (mg/ke)

e ek e | &M 7R
P e | . R AR e | e
& -2 1,2 =] %Y £ )

5 e i wriall I I
PUBZST ) = =
H23 | KERFERES | 7 AR v | | 3~ F (RHIX) -
JEMOKEERS | B L | Esa a2 q) OL 7 0.51 0. 14 .
B WFFERT (1%) a=v) GREX) -
6 kg/10 a L (EAIALEL 89 H) UL <0.01 <0.05
vrt (RHIX) L& -
(AR 42 B) 0.51 0. 05
10
vud (BIEX) LbEEHE -
(AL 89 1) 0ot €005
var¥s (BREIRK) -
(HEFILE 51 1) BGUR R 0.51 0.11 N
var¥s (BEX)| . -
(HEFIALER 105 ) HGUR B <0.01 <0. 05
FHFER | AL —2 v |l /BT (R) (BHIR RO 1.08 +0.59 <0.01
KPESME | Rl Ul eEmmsmse )y | WO F0.09 (0. 008)
Ty — (1%) A . F 0.36
6 ka/10 M7 (R) GRRER] . 001 <0.01
o CRFALER 133 H) WRO2Y <o.£ (0.007)| (0-007) 0.5
INTT () (R F 0.59 %5
GkAmm s ) | RO T 0.09 0.05
N + 0.36
N 1 FEAIE .
/J(%;Miig)wgﬁa%lz M O D T 0.01, 0.02
<0.01(0. 007)
:ZVV (FHX) FLAT 4ol I 0.59 0.01,
CEAIALEE 125 F) T 0.09 <0.01 1
o + 0.36 .
=T FEIE 5
(:;U;Li;i%g AT A T 0.01, <0.01 -
o <0.01(0. 007)
gk B 7% AR—T || Ry (R - +0.08 012
SRR | R L | X)) (GEAILEE 49 A) F0.07 ) 5
v H— (1%) KoLy vy (Bt - 0.04 0.03
6 kg/10 a LX) (HEHILER 78 H T0.04 )
17 (HE) (FHX) - F0.08 0.06
(HRFILEEL 63 H) T0.07 )
N7 (%) (GRIEX) - 10.04 0,02
(CEFIAEE 93 A) T0.04 ) 0.5
7 (R) (FHX) - 10.08 ¥E5
CHEFHIALPE 63 H) T0.07 0.01, <0.01
7 (R)  GERIEX) - 10.04 0. 01
CHEFHIALPE 93 H) T0.04 )
A ar (%) (R - 10.08 0.03
X) CGEALEE 7T B) T0.07 )
A Ay () (B - F0.04 0,02
X) (AL 105 H T0.04 : 0.5
A ar (R (R - 1o0.08 0,01 10
X) CGEALEE 7T B) T0.07 )
A ary (R) GRIE - 10.04 0. 01
X) (EANEE 105 H T0.04 :
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x 4-8-10 O/ 775> (FM20~23 FFE)

OB &

T-HERE (mg/kg)

e G 3]
| RN L9 > S - Bt | ARAFRE | PRETIREE | ey
EOBB | cEamo)  |fE| PRMERT il Wit | XD | (me/ke) | (ng/kg)

TR - PR E | 4 RE e el
H23 | ‘=R 2B = VKR || awy T (RHIX)
. RINEE 0.24 <0.02
P - | () Ul mmmm 42 B) RES .
MAWFZEAT 6 keg/10 a awvF GRIEX)
70N
(HEALER 62 H ) RINED 0.27 <0.02
IR (RHX) .
(HEFIALE 43 1) WAHEN 0.24 0.03
g ar— 0.31 10
X LFEILE N N
(AL 78 1) AT 0. 27 0.03
Frrrvy (R -
) CEAES2 H) | 7y 0-24 <0.02
15
RoLr vy (B R
) GEAMLELTS B) | 7y — 0.27 <0.02
H22 ﬁféztikﬂ%-% AF—J VEERL |72 | Ro LYy i T RTA 0.90 0. 50 0. 04 15
@%ty& ;J?)é){(ﬁi 20%) RERSEr - SN 0.90 0.29 0. 05 10
300 LH/IO a R L2 A H Beiliv > K g 0.49 0.07 10
T7AT— ’ ’ ’

INf=)oy THANY PR |72 | o~y ) RSN 0.37 0.74 0.52 10

pke s | AR (20%) | L Lok

Heffig > 47| 2000 fir, Yy—7LH R 7 A %—W| 0.48 0.68 0.39 25

— 300 L/10 a
H2l | BAKY | 2 #— 27 VRikl  |[#R| o~ F it -
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